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CHILD DEVELOPMENT AND TEACHING METHOD
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(1) - g -srearaen &

(2) IA-TeAEEAT ™

(3) SyEmEE &

_4) yiaeen |

T ST T W T % a8
(1) #.us. ferr

(2) HXTH. T

Joy ot gaeE

(4) 3Td. AHSEH

« Py R G , AT, Tl | faie bt et
% |7 o5 FuA FrEeR 2 7

(1) V=8

(2) feraaa

@ w e H

(4) “Refics
gmﬁw%wmﬁwmmm
B 7

(1) 40 fire 42) 45 o

(3) 30 e (4) 36 fe
"@ﬁ@ﬁwm@ﬁ@ﬁﬁm%g@aﬁaw%
mﬁmf@:ﬁﬁmm@%ﬁmﬁm@ﬁ-ﬁg&mﬁ

ﬁéaz{ﬁfqﬁﬁﬁﬁl”a%mmﬁﬂw%?
(1) wifcmEd

1.

Human development starts from
(1) Pre-childhood stage

(2) Post-childhood stage

(3) Stage of infancy

(4) Pre-natal stage

“The Conditions of Learning’ book is written

by

(1) B.F. Skinner
(2) R.M. Gagne
(3) LP. Pavlov

(4) E.L. Thorndike

«adolescence is the period of great stress,

strain, storm and strike” is the statement of

(1) Stanley Hall
(2) Simpson

(3) Crow & Crow
(4) Jersield

Total time taken in Indian Model of Micro
Teaching is

(1) 40 minute
(3) 30 minute

(2) 45 minute
(4) 36 minute

«plateaus of learning are a characteristic
f the learning process indicating
o improvement in
his ?

feature o
a period where n
performance is made”. Who said t
(1) Hollingworth

(2) Ross

(3) Skinner

(4) Gates and others

If a teacher finds a problematic child in the

class, what should he does ?

(1) Ignore the child

(2) Provide counselling to the child

(3) Send the child back to home
immediately

(4) Punish the child
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7. WEI-wETEH R ged: w8
AT BT % et e @
(2) B % g fem &
(3) B % Wy @
(4) QfrF dermt % fram &

8. T e arfm Regra 1 it i e 7

(1) @T—R (2) .. S
9. ey s a2

(1) =T = e 7
(2) =TT gr fererer Big &

13) Torelt areren ot o o & e W o @

B e § @
(4) e 1 foemey o vaw T o

10. Feddfmeaved @y sidanamma? | 10.

cO_curriculaf activities are mostly rejp, g
to
(1)
(2)
(3)
(4)
Wwhom of the following has not propoundeq

ming theory ?

Al round development of students
Professional development of studens

Mental development of students
Development of educational institutions

the lea
(1) skinner
(3) Thorndike

(2) B.S. Bloom
(4) Kohler

Meaning of stagnation in education is

(1) Not going to school by the child

(2) Leave the school by the child
(3) Retention of a child in a same class for
more than one year

Taking not admission in school by the
child

In which of the following skill, testing of
previous knowledge comes ?

(4)

W T B
(2) T E (1) Skill of introduction
a) : (2) Skill of closure
P (3) Skill of demonstration
(4) SETA-uRads SR (4) Skill of stimulus-variation
11. %Eﬁa@ummﬂmﬁm ? 11. Who gave the concept of multiple
Ly el (2) S FR Z'Iiltelligence ?
S
@) T (@) i B) Cardner”  (a) Gomman
12. %&ﬁﬁr‘wﬁa@ﬁﬁmﬁq@ﬁﬁ% 12. Dyslexia has difficulty in
(1) aﬁﬁ-‘ﬂ?{ﬁ (1) Expressing
() @éﬁ;ﬁ Ez) Standing
(3) s 3) Speaking
AT e /aﬁ;ﬁﬁ (4} Reading/ Spelling
. a7 | 13 ; B
wgmagnmﬁﬁ[%'ﬁ TR - Which of L
E s e e i 2 e teacherointbe following is not the role of
A R  fa (1) Teachelp‘:l}‘llswe classroom ?
ﬁrﬁﬁaﬁ‘faﬁ;ﬁvmﬁm T different]y -oud not pay attention {0
2) phli i T 3 2) Teacrently abled child
(3) ﬁma;ﬁ;ﬁ@ﬁ (3) Teacher S}? uld encourage the children
. teach leam-ould devote extra time t0
i T I o1 1 @ () Make ageqiog disabled
(4) 'afu% e <'3-cc0rc1ingqt ate Seating arrangements
e T ~ child O the requirement of the
3
paper - 1/C (BT
——
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14, =1y o
Wﬁ@ﬁﬁﬁmq@e{%m 14. In the class, questioning by students
“m‘ 3 e =i (1) Should be encouraged
(2) U & =Ry (2) Should be stopped
(3)  argufa & & =feg @3) Should not be allowed
(4) TalETE AT ATRY (4) Should be discouraged
15. =3 ) gfy geua: gfea @ 15 Growth of a child is mainly related 0
(1) amiors foemma & (1) Social Development
(2) wraTeHs ferehre @ (2) Emotional Development
(3) e ferepra @ (3) Moral Development
_ S i foem @ (4) Physical Development
16. sy 3 FRU EER # ufEd 8 ™ 37z | 16. ‘Learning is any chanee in behayiour,
T eie ? resulting from behaviour’ who said 1t ?
(1) f SR (1) Guilford
(2) fear it (2) Skinner
(3) HTSH (3) Crow & Crow
(4) gz o (4) Woodworth
17. @—Awqa‘t—laaﬁgﬁﬁﬁ%m 17. Mateh the List - A and List = B-
an‘_'A W_B List—A List"B v
i hin
' o T a. Bruner 1. Basic teaching
a. g:it ! ﬁTPﬂ; model
b. ¢ |g§|5| 1. W e b. Ausubel I[I. Synectics teaching
ITEIC] model
c. TS [, eTf aeeh e c. Glasser III. Advance organiser
NIRLIC] teaching model
4 T v = d. Gordon IV. Concept
attainment
ﬁTBJUI.!Ii?I L teaching model
V. g=31 ireror wfaHH V. Inquiry training
a b ¢ d model
)y v om oIl ( a b c d
) v m oIl
2) 1 n m v
ii&% : 2) I nm Im v
nronv @ um 1 IV
@ v m 1 I (@4 Iv I 1 I
18. U GETYH 1 YYH S0 8 18. The first step of problem solving is
Y guen il IeEH (1) Identification of problem
(2) e o TE (2) Testing of hypothesis
3) e & i (3) Formulation of hypothesis
(4) TheT QIR (4) Data collection
4

Paper-1/C

Scanned by CamScanner



‘_i

W

19. STt 1 srftem wtors soremeh B

20.

21.

22.

23.

SCTehT =1 THTeHe, STaTeH
q&ﬁmmml’ T AT BT
(2) Rrego srereen whTitehraT) Bt |
(3) Trereh srferm witean & o S sy
S g | T 3
(4) - er-forgr e e el o o o

wf W Ty Y oW F _
ﬁ?—mﬁmwﬁg%i‘?mmﬁmﬁ
(1) = |

J2 SR

(3) dard

(4) ST

o v rrr 1 e o R f i €7

s st faer
(2) T e

(3) Foa g argere o
(4) e stgeeu e

(4) o T ST
uﬁmﬁaﬁam%ﬁmqﬁmﬁ

fpmed
[, g

e Q) A

19.

20.

21.

22.

23.

24.

Lea
when

(1)

(2)
(3)

(4)

Wwhich step
of teaching_
understandmg lev

(1)
(2)
(3)
(4)

Which of t
as Theory of

(1)
(2)
(3)
(4)

W

part of Bru

hich of the following stages is n

T

mning of children will be mogt el
ve

ment of cognitive, affectiye

elo £
DeveOP & o+ domain of childe; W'?l
i

sychomoO
take place |
Teaching system will be autocrai;

cher will leaq the learnin

Zﬁi keep the children passi vge Procesg
Emphasis will be 0n.1y on reading
writing and mathematical skills
is prominent in the syntay
mOdel of memory level and
el ?

Exploration
Presentation
Planning
Generalization

he following theory is also known

Reinforcement ?

gtimulus Response Theory

Theory of Insight
Operant Conditioning Theory

Classical Conditioning Theory
ot the

ner’s Cognitive Development

Theory ?

(1)
(2)
(3)
(4)

Morriso
teaching model at unde

Iconic stage

Symbolic stage
Enactive stage
Intuitive stage

n has described five steps in his
rstanding level

which are

L.
II.
I11.
IV.
V.

Presentation
Exploration
Organisation
Assimilation
Recitation

The correct sequence is

(1)
3)

Whiclh of the following is mn
cognitive domain ?

(1)
(3)

2) 1,1 1L v,V

I, L Iv, I, V
(4) v,V,1ILL 1l

I, I, 11, IV, V
ot related With
(2) Underst;mding
(4) Valuing N
[P.T.0

Application
Knowledge
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25. iy il § g S o T € 7 25. Which of the following is not the curve of

learning ?
1) fufia ,
1) (1) Combination type
2T T (2) Longitudinal
(3) AR (ITA) (3) Convex
(4) Tt (4) Concave
26. TN - A TUT R - B Ao i | 26. Match the Column — A and Column - B.
T - A we - B Column - A gomllnn -B
e BRR Nt a. Animal [. Gestalt
a L. Intelligence _
b. Yeer i agget 1. fam b. Scheduleof II. Piaget
c. womiaw g 111 giHeE® reinforcement _
d. e v. e c. Law of [II. Thorndike
pragnanz _
a b c d d. Adaptation  IV. Skinner
(1) 1 v I 1 a b ¢ d
2 (1) ¥ v I I
@ o 1 (20 I IV 1 I
@ . W, I @ m v I I
JA’)/I Iv 11 1II “4) I v II II
27. “fom ot 7 T S Al wiEr R 1 27. “Development is a never ending process”.
I8 FeH foem & fore g @ gfm g 7 This statement is related to which principle
(1) R = g of development ?

(1) Principle of integration

2) ¥ wwRy 1 e
2) (2) Principle of inter relationship

] i (3) Principle of continuity
(4)  3r=i:for = g (4) Principle of interaction
28. wiaum & frw gee @ finen ¢ ek st | 28, Through which Amendment of Constitution
CERIDiN ?- . education has become fundamental right ?
(1) 25 %mﬁm (1) 25" Amendment
(2) 52 %wh%m (2) 52 Amendment
(3) 22 %mm (3) 22" Amendment
4 86wl : (4) 86™ Amendment
29. 3fnien % ya-yafv Rrer & wiaaes & 29. Instinct Theory of motivation was propounded
(1) TaTEd FE - by
v T
(3) faferam s (3) William James
(4) ﬂwa (4) McDougall
30. fywma i fira s A A a R vamew | 30. Which of the following stages of development
& e T X ;s called as “A unique stage of emotional
evelopment” by Cole and Bruce ?
(1) e (2) WgEEd (1) Childhood (2) Adulthood
37 T (4) vEmEEn (3) Adolescence  (4) Infancy
Paper-1/C 6
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31.

32.

33.

34.

35.

36.

el iy A-a T T @ ?
B wa
(2) wy
(3) =y

4 Frgd

Frfefen 1 4 s-m w7
(1) =
) i@
(3) vaem
W e

DR o Ry il o e o A B
(1) frean stemr

(2) otfer wH e F=E

(3) T safy =i ar=al =it &l
4y 3 iR R sret <fist o

‘e’ waR-frese TR ?
WY ER R

(2) -+ g

(3) HT+H

(4) H+E

el a3 1 T R
(1) =
2) JFUESLIt]

9T - II/PART - II 14
arar - I : &<t / Language - 1° HIN

. ﬁﬁmmwgﬁé.37@38%ﬁmfﬁq‘
. ﬁtmﬂﬁifﬁﬁtaﬂ i ﬂmmqu-m
meftard e 2 | 3T HERH R of o

fteran o 7 F1 9 S 3 v
IETI?JT% lﬂqjgmw% |iw.mﬁﬁ;mj
T e ﬁ%ﬁmgﬁaﬁﬁm@m%m
E%ﬁﬂwﬁﬁﬁ%mmﬁﬁmm
oy aferem L fear o |
. § m%mmw@ﬁﬁm%aﬁm
|
(1) WW
(2) STcHT Teh

(3) ¥ deh

. WmﬁW.ﬂWWﬁéWﬂ%?
(1) SFET 3 STEARH
(3) TSR e SR ARl
(4) TR ofR Smmenfcid Tl

39. ‘FfET SRR HH & 7
(1) TE e
A2) wrEdeR aut

(3) TS
(4)  erfeli s

40. I HH-T18 ?
T 3
(2) 3
(3) <m
(4) 3%3q

[ P.T.
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41, wﬁa@rgﬁ%éﬁaﬂﬂwmaﬁmzﬁ

EﬁT?ﬁﬁ'sﬁigg{%

(1) =g, wepsen, wegse, e e
(2) Fram Feror, wegse, Teeher, HEC
(3) wegaem, wegTeAT, T frmewT, AR

42. giwHifve |
I = ofec wriem A. 1893
1. il AT st g B. 1918
1. ey veR gffa, aaf - €. 1910
I II 1III
W c B
2) B A
B C A
4 A B

QO w o >

43, ‘godieE’ % AR E
(1) eEeE
(2) FEw B Foer
W3) . T T
(4) weTeal amt

44, "I AT AR RRER R ?

Mw@aﬂ

() g™
(3) 3 e
(4) W e

45, ‘wqtgA e e T e aE R
(1) =1
(2) R

3] T

A A

ﬁ%w:ﬁqmwmaﬁmﬁm%‘@awé@n%qé
47 % g foea BifeT

e i T St TETER Yo TreH | w9l 9Hh
o sfte T B Afer A STHIeH

Jeraft o e §E SR Fed A Huler il
fgorat T R e’ |t SIS Tree sier |

46, NN HFH-GIE R ?
SN e
(2) FME
(3) W@

(4) O™

47. IR T FFERgFR ?
(1) q==
2 gerie
(3) =R
(4) S

48. STERYRIM Sl gf § HH -1 foereq yrg X 7
(1) &-&=

(2) = -3g
(3) ¥ - I

4 - i

49, F=ffad i wR-wwm ayg R 2
(1) 7= = e e Sy
(2) ‘& FgRIET |
(3) erert ety | |
J/ﬁ aﬂﬁmﬁﬁﬁ‘ﬁmﬁm@mam%l
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50. ‘T EeH N st wieH T B A oy

< o o s - e o B 7
(1) ol
2T STgE

(3) Thaed

(4) gfeam

51. ‘THIW@EM Y i a1 W AA-T IR 7

(1) s
(2) IwFard

J[3) haTe
(4) HHATH

5o, ‘TfRme or uRae o i wE T |
el T A S Tl A
<6 2R B - SRR 8 ?
(1) &7

(2) IaaT

S v

(4) T
i § A AT TR GG R
(1) =@

(2) M@

(3) 3F

Ay ST
g4, FrAAH

53.

55.

56.
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o - III/PART - III
ATt - 11 : @it / Language - II : ENGLISH

61. Which of the following words is nota
co-ordinating conjunction ?
W] if y
(2) for )
.(3) and
(4) but
62. TFill in the blanks with appropriate
prepositions :
His thirst knowledge left him no
leisure anything else.
(1) on,on
J42) for, for
(3) by, by
(4) at, at .
63. The word ‘fast’ in the sentence
‘He is a fast writer’ is
(1) an adverb
J2] an adjective
(3) a conjunction
(4) anoun
64. Which of the following is not a ’simp]e
sentence ?
vm/ She reads what she likes. .
(2) He ijs a man of great knowledge.
(3) 1 have a Very costly book in my
house-
@) She does not know good manners.
10
paper = 1/©

65. The sentence

‘He will be playing the piano in the concert

day after tomorrow’ is in
(1) Future Imperfect Tense

_A2) Future Perfect Continuous Tense
(3) Future Indefinite Tense

(4) Present Indefinite Tense

66. In which of the following sentences is the

subject of verb a feminine gender noun ?
(1) All the young men have arrived.
(2) All the old men have arrived.

3 All the female members have arrived.

(4) All the male members have arrived.

67. The method of teaching in which the
teacher tries to establish a link between
the foreign language word and the object
without the interference of the learner’s
mother tongue is called

V(,l/)’ the bilingual method
(2) the grammar-translation method
(3) the direct method

(4) the structural method

g
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68. If youaretesting your students’comprehension
of writteﬁ— Engl@sh, you are testing thejr
understanding of what they have just
(1) listened to
(2)

31 written

(4) read

spoken

69. Choose the correct sentence :

Please listen towards your teacher,

(1)
(2)
3] Please listen to your teacher.

Please listen of your teacher.

(4) Please listen your teacher. |

@ Find out the correct sentence/sentences :
q,r)/ Both of the above
ﬁQj None of the above
(3) Idon’t believe him.

(4) I am not believing him.

71. Which of the following sentences is in

Passive voice ?

-(-1) Some boys were helping the wounded

marn

y)/ My watch was lost.

(3) Someone may steal the bicycle.

(4) The teacher scolded him for being

late.

11
Paper — 1/C

72. Which of the following alternatives i &

correct pass!

sentence ?

ve voice form of the fouowing

Do it’

(1) It will be done
V(gf Let it be doné

(3) It be done

(4) Itis done

of the following words is plural ?

73. Which
(1) Analysis
‘,(Z)/ Criteria
(3) Index
(4) Crisis
w4. Which of the following nouns is in plural ?
(1) electronics
(2) billiards
(3) news

/ﬁ mice

75. He was an orphan and lived with his

uncle.

In the above given sentence identify the

gender of the word ‘orphan’.

(1) Common Gender

%Neuter Gender

(3) Masculine Gender

(4) Feminine Gender

[P.T.O.
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ven below and

he passage gi

Direction : Read t
given below.

answer the Question No
tion is followed b

orrect. You hav

s. 76 and 77

y four answers only

Each ques
e to chooseé that

one of which is €
correct answer.

To forgive an injury is often considered to be a

sign of weakness ; it is really a st

ow oneself to be carrie
into an act of vengeance

gn of strength.
It is easy to all d away by

resentment and hate
but it takes a strong character to restrain those
natural passions. The man who forgives an injury
elf to be superior of the man who

proves hims
uts the wrong-doer to shame.

wronged him, and p
a foe into a friend. So

Forgiveness may even turn

mercy is the noblest form of revenge.

The word strength is a

76.
(1) Abstract noun
JZ)/ Collective noun
(3) Common noun
(4) Material noun
77. One who does not take revenge 1s
(1) a foolish man
(2) afoe
(3) a weak man
Jﬁ'\/ a strong marn
Paper - 1/C

LU L

Direction : Read the¢ following
Question No

s set below it. (

the question
79)
She dwelt 2

Beside the s
hom there were

mong the untrodden ways
pring of Dove ;
A maid W none to praise

And very few to love.

A violet by mossy stone€

Half-hidden from the €y€ !
Fair as star when only one€
is shining in the sky

What is the meaning of theé word quntrodden’?

78.
(1) Hidden
(2) Explicit
\(})/ Unexplored
(4) Explored
79. Identify the correct figure of speech used
in the second stanza. o
(1) Alliteration
Simile
(3) Metaphor
(4) Pun
80. Which of the following sentence/sentences

is/are correct ?

(A) There is few hope of his recovery

(B) He sh.owed few concern for his
nephew.

(C) He showed little mercy to th
vanquished. )

(1) (A), (B) and (C) )

(2) None of the above

(3) Only (A)

y/only (C)

12
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81. Point out the sentence which is in past
perfect tense.
(1) We were listening to the radio all
evening.
(2) It was getting darker.
(3) He studied many hours everyday.
(4 1 had written my letter before he

arrived.

82. Fill in the blanks with the correct article :

Neil Armstrong was first man to

walk on moon.
the, the

(2) an,a

(3) a, the

(4) an, the

83. Fill in the blank in the following sentence :

The teacher has been teaching for
hour.
(1) two
(2) three
3) a
an

he word

84. Add the right suffix to pluralize t

‘Ox’.

(1) —ies
(2) —s
{3y —en
(4) —es

Change the word ‘grow’ into & noun by

85.
e suffixes given below.

adding one of th
(1) —-s

(2) —n

(8) —ing

V(s,)/-th

Paper - 1/C

13

86. Which of the following alter"ativeSi
' 8

grammatica]ly
(1) All these man are gentle,

(2) All these mans are gentle.

correct ?

All these men are gentle,

4) Al this men are gentle.

87. Fillin the blank with appropriate prepositioy, -

He came to me midnight,

(1) on

(2) upon
3y in

(4) at

88. Which of the following sentence does not

have an adjective clause ?
(1) Imet him where he lived.
(2) Imet himin Prayagraj which is a holy
city.
37 The man who is truthful is loved by
all.
(4) 1love the man who is truthful.

89. Fill in the blank with correct preposition :

He is junior me.
(1) with
A2 to

(3) than
(4) from

90. Fill in the blank with correct conjunction

Either he is mad
(1) nor
_2Y or
(3) and
(4) so

he feigns madness:

[ p.T.0.

1
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91.

92.

93.

94.

9T - IV/PART - IV

o / MATHEMATICS
91.

gﬁﬁmﬁmmﬁﬁqﬁaﬁm@ﬁﬁm
(1) 8,9,10 2) 8,64,5
(3) 6,8,10 (@;/si 15, i

%TmmﬁﬁqaﬁﬁW41728,9@ﬁm

M 2) 9

(3) 3 4) 6
Af2 2160 = 2°x3°x5°,d 3°x2 x5 F AH I

Hifs |

81 37
(1) 20 30
1
(3) 5 4) O

v SRR T T R, x A
64

21

92.

93.

94,

95.

hagorean triplet of which smalles

Find Pyt
umber 18
1) 8,9, 10 @) 8 64,512
(3) 6 8 10 4) 8, 1517
Find the value of Z for which the number
41728 is divisible by Z-
1) 7 (2) 2
3 3 4) ©
If 2160 = 0*3°x5°, then find the valiiesr
38x2_bx5_c. 7‘
37

81 37
M 25 (2 39

> @) ©
(3) 5
Find using side figure; the value of xis

64
27 1
8 2
X 3
4

(1) S (2) 6
S (4 1

Mode of distribution can be obtained
from

(1) More than type ogives
(2) Frequency polygon ’
(3) Histogram

(4) Less than type ogives

WlJ 4 2 A2
- Ty .
' 2
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96. ek s By AR 60% I I U T Iwh! werd
: . 96. The length of rectangle is increased by 609
e whrwrer By et e T Foreret ST T et By what percent would the width hjg.vef(
T ? 3 be decreased to maintain the same area 7
(1) 125% 421 -37.5% (1) 125% (2) 37.5%
(3) 50% (4) 75.5% (3) 50% (4) 75.5%
The volume of a cube is numerically equa

T T & HEa ST €9 H 3WH g A | 97.
to sum of the length of its edges. The total

97.
TS 3 A 26 S & | O R S T A
CUR-CORR: R , surface area of cube in square units is
(1) 72.0 W) 44.2 (1) 72.0 (2) 44.2
(3) 12.4 (4) 64.5 (3) 12.4 (4) 64.5
Amit’s salary in 2018 is Rs. 1,26,500. His

0018 3 37fid #1397 & 1,26,500 8 1992016 | 98.
salary for 2016 has risen annually by 10%

98,
& IHeR 3 Wi AEI; 10% T 15% TG 2018
% 3o 7 TEa T | A 2016 F IHI G bt and 15% respectively to reach 2018 salary
g1 ? figures. What was his salary in 2016 ?
(1) ¥ 1,25,000 qzj/vsgr& 1,00,000 (1) Rs.1,25,000 (2) Rs. 1,00,000
(3) W 95,000 (4) T 1,15,000 (3) Rs. 95,000 (4) Rs. 1,15,000
99, aﬁ@waﬁwmwwémﬁamagﬁquaﬁm 99. The HCF of two numbers is 6 and their
432 % | 3R ©F e 48 § 9 qud wEm @ LCM is 432. If one of the number is 48,
(1) 42 5“;} the other number is
3 (1) 42 (2) 54
(3) 52 (4) 27 (3) 52 (4) 27
100. firet Ry b e Y 16 afi@ F wgaT e @l | 100, If third Friday is or 16t of month then what
_ 3t g 1 ST HTEER RRg qE e ? will be the date of fourth (4) Tuesday of
(1) 27 (2) 29 same month ?
‘127/2 | 1) 27 (2) 29
20 (4) 22 3) 20 (4) 22
101. et smaER @ 1 el 17 et 9o gfrg | 101.  Diagonal of a rectangular field is 17 metre
46 fR g dr@d & &% I and perimetre is 46 metre then area of the
field will be
(1) 132 i? (2) 289 o2 (1) 132m? (2) 289 m?
(3) 112HP U4y 120 #P (3) 112 m? (4) 120 m?
102. {(2-')}'1%E(?ﬁ$TUT@WH'@T§1ﬁ 102. On simplification {(27)}"", the number will be
A 37T AT A. Prime number ..
g @ B. Even number
(B:' ;mﬂw C. Multiple of 2
D. faug &t D. 0Odd number
(14 C, D (2 A B,D (1) A, CD (2) A,BD
\W/Q: B, C 4) B,C,D 3) A,B,C 4) B,C,D
V({/ | 7% 9 % [oTC ITE /SPACE FOR ROUGH WORK g
~ T Lo = 6% y1®
' L3 g
)"é 2= 50
z 125
=2
22 . ots MT & /gy
16
A
A
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103.  frfafe f @ Ar-m R Ed & 7

W OF v e R @ w2
22) ?wam@ﬁ@
3) A 3T wEmai :
o, AT Hed 379 Tl
(4) mmmm l%l

@" SF TR % AT T e S B i 60° 2 A

?ﬁ“i“jwsﬁaﬁm%
) 4 (2) ;

10S. o weet Y we o gt 0 e 2l &
o ww

106. Wﬁﬁﬂm‘%lO%ﬂaﬁmﬁaWﬁ’@ﬁQO%
TRl TRt St S 5% Sert v | 5w v

j)apﬁw 3 foa e a1 afed g 7
24.4% (2) 24.6%
(3) 24% @) 24.2%

fordt st % 15 . 17 ot o= 3w o i, 2 wft
R e TR TS ST Heh) STef! SRR 2T ot e

e Rl R ?
(1) 841 @y 840
(3) 814 (4) 820
108. gum:a(mss)m?ﬁsmémaimam
7 (2) 9
3) 1 w3
109. wﬁ:@ﬁm%m@%%ﬁr{maaﬁ%%

e P, A & A d, A P

(2)

8
3
2
8

103.

104.

105.

106.

107.

"’:;ﬁnouen % J\Z
£

108.

109.

Which one is correct in the f0_1V10wing

statements .

(l)a A composite number
number.

(2) Even prime num

(3) Sum of two prime

(4)

may be odd

per does not exist.
numbers always

i mber.
prime nu )
Least prime number is 1.

if between the interior and
The difference b€ lar polygon is 60°.

exterior angles of aregu

The number O :
(1) 6 (2) 7

(3) 4 (4) 5 |
The number of points presentona straight
line is

(1) 2 (2) 1

(3) infinite “4) O

If the length of a room 18 decreased by 10%
and breadth is decreased by 20%, while height
is increased by 5%, then what percentage
changed in the volume of the room ?

(1) 24.4% (2) 24.6%

(3) 24% (4) 24.2%

If length and breadth of a room is 15 m
17 cmand 9m 2 cm respectively. What is
the minimum number of square tiles which
is fit for that ?

(1) 841 (2) 840

(3) 814 (4) 820

Unit digit of the multiplication of (2153)!¢7is
1 7 (2) 9

3) 1 4) 3

If we increased 20% in numerator and
25 % in denominator of a fraction then it

.3
is 5 then the original fraction is

8 8
2 @ 2
3 5
® 3 “ o

-0

(N

Ry

96~

gy g -

L ONG)
i lfl?xﬁa;f
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110. SQ}Wﬁﬁaﬁﬁa‘@qﬁ% 110. The numbers divisible by 8 are
~i. 5240 i, 5220 i 5240 . 5220
Ali. 97128 Liv. 97124 iii. 97128 iv. 97124
(1) i, iii 99 iv i a9 iii (1) i, iii and iv (2) iand iil
(3) idurii (4) il T il (3) iandii (4) iiandill
111. @Wﬂmﬁmﬁﬂﬁ&@%%7 111. Howmanyverticesarethereinatriangular
prism ? g
(1) 6 v 8 (1) 6 2 8 -
3 4 (4) S 3) 4 (4) 5
112. ?10%6%3‘('@%%?6&4@??{@ 112. Whatwillbethelosspercentage,ifbanaglas
@ Fry i =i gl ? purchased 6 for 10 and sold 4 for 6
(1) 5% (2) 20% (1) 5% (2) 20%
(237" 10% ) 6% (3) 10% (4) 6%
113. ﬁﬁm%mﬁ-aﬂqﬁﬁmaﬁ%? 113. Which oneis correct in the filling space ?
17 = fep.m. 1 gram = kilogram.
A L fem. A L1 kg
1000 1000
- 102 fHam. B. 10° kg
C. 0.0001 fram. C. 0.0001 kg
p. 1000 fhm. ) D. 1000 kg
(1) AB (2¥°C,D (1) A, B ‘ (2) C,D
3) B,C 4) AC 3) B,C (4) A, C
114. (0.01)2ﬁm%mﬁmﬁm 114. (0.01)? can'be written in the percentagéfonn
1
A 0.01% B A. 0.01% B. —.
100 # 100
1
L 1% D. % c 1% 1
100 o D. 10-0/

— | -"Jmaq-&-a;f%{qm /SPACE FOR ROUGH WORK
A '0’-;9('0/‘ L %__*[,C? A - g

g (O s W@

N

Papcr—l/C SR TEP ?f/
\% -

Scanned by CamScanner



(A

115. 7 @) dEeit w1 SR qUT AR AR 5 T 36
21 31 ST S IR E
5 9

m 2 el

> @ =

36 6

LA

3
(1) 3
8 @) 2

ferfefiaa 3 & 1§ 3 A A AR Feot e B
SR ST G & 7 ST R W 1.2 Wl 4.2 3

5.0 &t af.8.1 THI ® |
(1) & »ezf_gn

(3) T (4)

T R, AU F AT A 1 RF R | w
2 Sre S H 3 e WEEA 1 W Bt § | e
firt v <hIfTC |

m =
e

119. & AR (-9) - {(-8)+ (24 +13 7))

(3)

L
2
1

117.

118.

(2)

(4)

O~ Wl

115,

11e.

117,

118.

119.

N and product of two numpsy,
{afrglfé‘egindces 5 respecpwﬂy, then fing the
difference of their I'f:Clproc9 S. 7
1y 2 2 g

95 4) §_1.
®) 4 36
If a+b =_13._'L(E-=E:—-E—I=K, then the valye

c a b

of K is
3
1 o
m 5 (2 3
3) 1 4) 2

The number of possible triangles with any
three of the lengths 1.2 cm, 4.2 cm, 5.9¢m
and 8.1 cm is
(1) Three

(3) One

(2) Four
(4) Two

The denominator of a fraction is 1 more
than double the numerator. On adding2to
the numerator and subtracting 3 from the

denominator, we obtain 1. Find the original
fraction.

(1) (2)

Ol N

(3) (4)

Simplify (-9) - {(-8) + (24 + 13- 7))

(1) =8 ﬂ)ﬂﬁﬁﬁﬁéqﬁ (1) -8 (2) None of these
3) 5 4) -5 (3 S 4) -5
120. AR FF. (a, 8) = 4 ANAH. (a, 8) =24 &, @ | 120. {f ,HCF (@, 8) = 4 and LCM (a, 8) = 24, then
‘9’ F AR a’is
(1) 14 (2) 8 (1) 14 (2) 8
(3) 10 s 12 () 10 (4) 12
7% hTd % [o7Q ITE /SPACE FOR ROUGH WORK —
q X
] ) s ad
2
‘—LC/F ¢ qd—<
@,3) =Y 5 &1
x)
. z(- 8) 26
_ - pT.0
Paper - 1/C - [Q%j [
=9+ 7
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R — V/PART - V : .
qatauia 318994 /| ENVIRONMENTAL STUDIES

forfrRaa & & frg wwr o eaw arT ST @ 7

(1) \FEd
(2) &m

3 g
(4) T TEEYH

121,

Frafafad # @ Sw-w1 e vider o wew TE e ?
(1) B .
- (2) dE

NV i

(4) ™

122.

123.  SERREAT < STHR % SR JewH TETE &
Y TR
(2) 3hr
(3) Iy
(4) I amfEm

124.  uRd & omE S i g st 2 7
(1) SwrEve 3§
(2) ¥r@us

\,(}i/Wmaﬁ

(4) SHTRY F s ax

125.

vt seama w4 feg 2
W Bt §

(2) ifear &

(3) wea yewr

(4) ¥R@ve i

126w sl R s ) s et 7

(2) et TS Fees
W dwwnd
(4) Tumawd

Paper-1/C "~

26

121.

122.

123.

124.

125,

126.

In which of the following regions Reindeer

are found ?

(1) Monsoon
(2) Taiga

(3) Tundra

(4) Hot Desert

‘Which one of the following is not a

temperate grassland ?

(1) Downs

(2) Prairies
(3) Pampas
(4) Compas

According to population size, the largest

Continent is

(1) Asia

(2) Africa

(3) Europe

(4) North America

Where does Tharu tribe live in India ?
(1) Uttarakhand

(2) Jharkhand

(3) Thar Desert

(4) Tarai region of Uttar Pradesh
Bhilai Stee] Plant is situated in
(1) Chhattisgarh

(2) Odisha -

(3) Madhya Pragesh

(4) Jharkhangq

L‘?k 'Sabha
Vidhan Sabhg
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127. e T & e R g 3 T o6 @ sy ey

3w B =R ?
(1) 5099 (2) 30§
a1 35 @) 457

128. %ﬁ‘lﬁlﬁﬁ-ﬂl?ﬂgﬁmm@qﬁ%gﬁl

g -1
a. TTER™ 99

= -n
A. SO W
b, T~ g
d. I 9= D. g
we ! -

oA

(2)
3)
(4)

d
B
B
Cc

w oo > ®
w » g °

b
C
D
A
C D A

129. 3ITISSE 356 I VW YT et AR el galn ?

(1) ST FHR 1956

2y 5 1957
(3) fo®R 1958

(4) & 1959

TR BT R ST R T S HE € 7
(1) =R
Loy ST ah
(3) TARSH W
(4) TeH
mlssaﬁmﬁq@?ﬁﬂﬁiﬁﬁﬁﬁ
(1) e & ey F A ’
2) FOFM AR H A
(3) FEATAHAE
Mmﬁﬁm‘ﬂ%ﬁﬁﬁ

Paper - 1/C

130.

131.

27

127.

128,

129.

130.

131.

pointed as the Governor of

In must have attained thg age of
te, one |
a Stz 0 years (2) 30 years
: rs
( : S (4) 45yea
(3
mparing List -]
t Code after co
Choose the righ
ist = II
with Lis I
ist — I B
. Union A. Prime Minister
a. Indian |
b. Stat B. Sarpanch’
. State
c. Corporation C. Governor
d. Village panchayat D. Mayor
Code :
a b c d
1y A C D B
@ C D A B
3 D A B C
4 B C D A L)

When and where, Article 356 was used first ?
(1)
(2)
(3)
(4)

Jammu and Kashmir 1956
Madhya Pradesh 1957
Bihar 1958

Kerala 1959

Which tax can be imposed by Nagar Nigam ?
(1) Toll Tax

(2) All the above
(3) Entertainment Tax

(4)

House Tax

In 1853, India’s first passenger train runs
between ' ) .

(1)
(2)
(3)
(4)

Calcutta to Alipur e
Calcutta to Damdam
Bombay to Pune
Bombay to Thane

[P.T.O.
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132,

133.

134,

135.

136.

137.

Paper-1/C

TR B wed st wy A AT B @
Nbal o
(2) e A
(3) TRERH
(4) HAgeH

U TehalT GRwg o) T g8
(1) 1971 #
(2) 1981 %

37 1951 #
(4) 1961 #

A1 % JRFR 1 Seorg HiuE & o gl
A e ?

(1) I7g=d% 23 - 24

(2) g% 25 - 28

(3) g 19 - 22

JH ITE 14 - 18

%H%wﬁaﬁﬁwéﬁmm%?
(1) i
v(%ﬂ/a?ﬁégﬁﬁ@q

e’ s

4 ==

8 8 - et e s 7
(1) #meT

w2l s

(3) FReT

(4) o=

Sﬁaaalgaﬁ?ﬁmﬁ
(B S s

(2) foerfim

(3) wEH

(4) @ =

132.

133.

134.

135.

136.

137.

28

(O

’s largest cattle fair is organised at

Asia
(1) Pushkar
(2) Nasik

(3) Haridwar
(4) Sonepur
National Integration Council was established .

in the year

(1) 1971
(2) 1981
(3) 1951
(4) 1961

In which of the following Articles of
Constitution, the Right to Equality are
mentioned ? i

(1) Articles 23 — 24 : !

(2) Articles 25 — 28 '

(8) Articles 19 — 22

(4) Articles 14 - 18

Which country has a flexible Constitution ?
(1) America .

(2) United Kingdom

(3) India

(4) China

among following )

(1) Chiton

(2) Echinus

(3) Euplecteiq
(4) Leech

Unit of Protein molecyle is
(1) Aming acidq

(2) Vitamin

(3) Glucose
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138, T & B 3 Te iR o

e 3 TR A T w
g it
T

140, SO T U R
(1) TRE
(2) T

3y TRE S
(4) W

141. g@ﬁwmﬁaamﬁwﬁa%?
(1) W@

29

138,

139.

140.

(2)

141.

142.

143.

144.

elle is absent in plant cel] 2

Which organ
(1) Vacuoles

(2) Centrosome

(3) Cellulos€ cell wall

(4) Plastids

and in human body is

Largest gl
(1) Adrenal Gland
(2) Liver

(3) Pancreas

(4) Pituitary Gland

State bird of Uttar pPradesh is

(1) House Sparrow

Parrot
Sarus Crane

(3)
(4)

Hamlet is associated with which settlem:
(1)
(2)
(3)
(4)

Which is volcano mountain ?

Peacock

ent ?

Linear
Urban
Fragmented

Rural

(1) Appalachian
(2) Kilimanjaro
(3) Aravali

(4) Ural

Elephanta Island is located at
(1) Mumbai Coast

(2) Ganga Delta

(3) Kutch Coast

(4) Goa Coast

Monsoon forests are found where rainfall is
(1) 50-150 cm’

(2) 70-100 cm

(3) 70-200 cm

(4) 150 - 200 cm

[ p.T.0-
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145. AT Q’ T Yo foear @ 145. Karbi Anglong Plateau is an extension of
(1) oo = (1) Tibet
A2[ W TBT (2) Shan plateau
(3) ST Taw (3) Peninsular plateau
(4) Tewmer = . (4) Himalaya
146. Goms gaiRe arEE e TOdan, F@ ‘@me | 146, The world’s most problematic aquatic weed,
F o7 | i Fed &, TER also known as “Terror of Bengal” is
e - (1) Eichhornia Crassipes
(1) (sTergeeit) (Water hyacinth)
(2) fmIE ST (3 &) (2) Cynodone dactylon (Doob grass)
oy (3) Lantana Camara
) (4) Parthenium hysterophorus
W47 TRl faeteie (i ) (Congress grass)
147. dEEF e @R 1 AR & 147. The abiotic property of virus is
- (1) 98 SoFHA TEl R Fehal (1) It cannot reproduce
D;; , (2) Wm%wﬁqﬂaﬁaﬁmmw% (2) It can be crystalized ’
1 W ERIRUCK:ILD I RIRIEEIGH (3) It does not have the genetic material
(4) TEH A TE g S (4) It does not have protein
148. UIEY §WA S el Sl THH T gedT T 8 148. Plant hormone that help in the ripening of
(1) WEAHREEAA fruits is
(1) Cytokinin
T kil (2) Ethylene
(3) 3T (3) Auxin
‘ (4) Frtfem (4) Gibberellins
| 149, @ad €7 ¢ I & T AR Sfary fsd | 149.  Free living, anaerobic, nitrogen (N,) fixing
FrEaeE (N,) R FAAT B 8, T8 © bacteria found in soil is
(1) Ferreean (1) Clostridium
2) (2) Vibrio
(3) (3) Azotobacter

(4) Rhizobium

ﬁﬁammDNAaﬁfﬁmﬁm@wﬁwm 180. Which type of DNA is commonly found

150.
27 inside the cell ?
- DNA -
(1) B-DNA :Z;/i - DDNA g) B - DNA (2) Z-DNA
(3) A-DNA ) A-DNA (4) C-DNA
._—-‘—-""_‘-'_-F -
30
paper - H°

T ——————
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